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Rigidez nao linear

VARIACOES




Mola n3o linear: F = kqyx + k,x3
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1kgt = kxy = 0,25m



Mola n3o linear: F = kqyx + k,x3
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Figure 2.2: Curve of Intact Statical Stability
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You may enter here scilab instrue
used in block definitions using S
These instructions are evaluated
and every time the diagram is rui

% Function:
y1=k_1*ul+k_2*u143
F = klx ~+ kzx ¢




Rigidez variante no tempo

VARIACOES




Rigidez de uma barra estendida
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Rigidez de uma barra estendida
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N JON | Definir cont

You may enter here scilab instructions t
used in block definitions using Scilab in
These instructions are evaluated once cc¢
and every time the diagram is run.

Function:
y1=u1*k_1/(I_0+v*t)
1 Rl | 1 S

@ @ Solicitagdo de valor de entrada do Scilab

Define function which computes the output
i Enter Scilab instructions defining
y1l (size: 1)

as a function of t,ul,n_evi,
lyl=ul*k_1/(_0+v*t) |




Amortecimento histerético

VARIACOES




Amortecimento histerético
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Amortecimento histerético

mx + ;x + kx = F, sin wt

B |—> x(1)
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Resposta

o MUX
- You may enter here scilab instruc

used in block definitions using S
These instructions are evaluated
and every time the diagram is rui

Function:
y1=u1*beta*k/(2*3.1416*f)

m=1;
k = 39.47;

beta = 0.05; Function: :
f =0.4; y1=u1k K +




Tempo final de integragao
Escala em tempo real
Tolerancia absoluta do integrador
Tolerancia relativa do integrador
Tolerancia de tempo
= Intervalo maximo de tempo de integragao
Solver kind
Maximum step size (0 means no limit)

Definir contexto

Definir parametros

I 1 Adu privs

@ @ Solicitagdo de multiplos valores do Scilab

2.0E02 | Definir parametros do bloco GENSIN_f
0.0E00 Gerador de onda senoidal |
1.0E-06 Amplitude Y
1.0E-06 » Frequéncia (rad/s) 2*3.1416%f |
1.0E-10 1 Fase (rad) 0 l
1.00001E05

Sundials /CVODE - BDF - NEWTON GG  cancelar )
0.0E00 . T T — s
Ok Cancelar Padrédo " YON ) Solicitagdo de multiplos valores do Scilab

Definir parametros do bloco CSCOPE

O ® Definir contexto

You may enter here scilab instructions to define symbolic parameters
used in block definitions using Scilab instructions.

These instructions are evaluated once confirmed (i.e. you click on OK),
and every time the diagram is run.
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